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Interest Rate Object Diagram

Example 1 - Compo

und Interest Rate

10.00% and the ask rate is 9.90%. The last end of day rate is 9.90%.

A USD interbank rate starts on the 09/09/1999 and extends for 2 years.
The interest rate is a semi-annual rate. The date is 30/360. The bid rate is

: BasiclnterestRateModel

quoteTime :
isYours: = False
expiry :

= Timestamp(13:05:05 EST)

= Timestamp(15:06:07 EST)
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. InterestRateSpecifierModel . InterestRateQuoteModel . InterestRateQuoteModel . InterestRateQuoteModel
currency : = Currency("USD") identifier : = "bid" identifier : = "ask" identifier : = "last eod"
location : = Location(nil) base : = nil base : = nil base : = nil
party : = Party("CZK Goverment")
fromPeriod : = Period(nil)
fromDate : = Date("09/09/1999")
toPeriod : = Period(2Years) . . .
toDate : = Date(nil) margins margins margins
dateBasis : = DateBasis(30/360)

: InterestRatePieceModel

: InterestRatePieceModel

. InterestRatePieceModel

identifier : = "interbank” identifier : = "interbank” identifier : = "interbank"
value: =0.1 value : =0.09 value : =0.099
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: YieldQuotationMethodModel

frequency

: DiscreteLevelCompoundingFreguencyModel

frequency :

=2




Example 2 - Interest Rate Premium

A simple interest rate premium starts on teh 09/09/1999 and ends on the 03/02/1999.
The bid rate is 6.4% and the ask rate is 6.2%. The party is the CZK government.
The currency is USD. The date basis is Actual/Actual.

. InterestRateSpecifierModel

currency : = Currency("USD")
location : = Location(nil)

party : = Party("CZK Goverment")
fromPeriod : = Period(nil)
fromDate : = Date("09/09/1999")
toPeriod : = Period(nil)

toDate : = Date(03/02/2000)
dateBasis : = DateBasis(Act/Act)

: BasiclnterestRateModel

quoteTime : = Timestamp(13:05:05 EST)
isYours : =False
expiry : = Timestamp(15:06:07 EST)
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: InterestRateQuoteModel
identifier : = "bid"
base : =nil
margins
. InterestRatePieceModel
identifier : = "interbank"
value: =100
%
%
%

: InterestRateQuoteModel

identifier : = "ask"
base : =nil

margins

. InterestRatePieceModel

identifier : = "interbank"
value : =100
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. InterestRateBasisPointsModel

SimpleCompoundingFreguencyModel




